Enrollment No: Exam Seat No:

C.U. SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Water Resource Management

Subject Code: 2TEO5SWRM1 Branch: Diploma (Civil)

Semester: 5 Date: 27/03/2018 Time: 10:30 To 01:30 Marks: 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) The standard height of a standard rain gauge, is 1
a) 10 cm b) 20 cm c) 30 cm d) 50 cm

b)  Runoff factor k =? 1
a) R/IP b) P/IR c) 1/P d) 1/R

c) InIndia the recording type rain gauge generally used, is 1
a) weighting type  b) tipping type c) recording type d) none of these

d) Choose the correct pair. 1

a)R=0.85P ~30.5 b)R =0.85P — 30.5P
c)R=0.85-305 d)R=0.85P —30.5P

e) The depth of an open wells may generally range from .......... m. 1
a)2to20m b)3to30m c)5to15m d)4to28m

f) A unit hydrograph is a hydrograph representing 1
a) 1 cmrunoff  b) 1 mrunoff ¢) 100 cm runoff  d) 100 m runoff

g) Minimum one rain gauge is required for each area. 1
a) 1000 km? b) 2000 km? ¢) 520 km? d) 8000 km?

h)  Lysimeter is used to measure : 1
a) evapotranspiration b) infiltration ) evaporation d) transpiration

i)  Pan coefficient = lake evaporation pan evaporation. 1
a) multiply b) divide ¢) subtractions d) addition

j)  Aunit hydrograph is a hydrograph of a rain storm of a specified duration resulting from a 1
runoff of
a) 15 mm b) 20 mm c) 25 mm d) 30 mm

k) The rainfall cycle period in India is taken as 1
a) 15 years b) 20 years ¢) 30 years d) 35 years

[)  Maximum evapotranspiration is recorded at . 1
a) Mumbai b) Bhopal c) Rajkot d) Surendranagar

m) Pan coefficient of India is ? 1
a) 0.50 b) 0.70 c) 0.80 d) 0.90

n) Isohyets are the imaginary lines joining the points of equal 1
a) pressure b) height ¢) humidity d) none of the above

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
a) Enlist factors affecting evaporation and explain. 7
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Q-7

Q-8

Q-1

f)

9)

h)

Draw sketch and compute the depth of interface.

Attempt all questions
Explain the factors affecting the flow of runoff.

Discuss the modification of pumping.

Attempt all questions
Write the uses and limitations for unit hydrograph.

Write the uses of ground water and advantages of ground water

Attempt all questions
Write causes and ill effects of salinity.

Write advantages and disadvantages of sprinkler irrigation.

Attempt all questions
Give comparison for surface drain and sub surface drain.

What is need of water resource management? Explain

Attempt all questions
Draw component of sprinkler irrigation system. Explain

Describe advantages and disadvantages of drip irrigation.

Attempt all questions
Write importance and zone of ground water.

Define hydrology and draw neat sketch of hydrological cycle.

Attempt the following questions:

RLeSS 2y ofl WlesSs U alal ®.

a) 10 cm b) 20 cm c) 30 cm d) 50 cm
ol Vg §522 k=?

a) RIP b) PIR c) /P d) 1R

QU Hi 2880t ety atdloy YsiR oll cupA B.

a) weighting type  b) tipping type ¢) recording type d) none of these
ARAL A8 uie s,

a)R=0.85P 305 bh)R=0.85P305P
c)R=085-305 d)R=0.85P30.5P

Yl ol ol ALste R 8laL.

a)2to20m b)3to30m c)5to15m d)4t028 m
oll SLAZULS ol AsH SlAJUS SseAULRL.

a) 1 cmrunoff  b) 1 mrunoff ¢) 100 cm runoff  d) 100 m runoff
oll (AR M2 AS w6t Aoy ofl %32 U3.

a) 1000 km? b) 2000 km? ¢) 520 km? d) 8000 km?

Lysimeter HUdl Hi2 duRlA B.

a) evapotranspiration b) infiltration  ¢) evaporation d) transpiration

Ylol SlAGI{RA2= As axdledlclet Ylol ciledlclet,

a) multiply b) divide ¢) subtractions d) addition
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K)

AsH slAJUS A (F5U  UHRL oll ARULE ol

slaaULs &.

a) 15 mm b) 20 mm €) 25 mm d) 30 mm

GURA Hi RelslA ALRASEH ol Aaal,

a) 15 years b) 20 years ¢) 30 years d) 35 years

Well ay sl lRuet Hl AUAA B.

a) Mumbai b) Bhopal c) Rajkot d) Surendranagar
AR of Ulel slASI{ A6 ?

a) 0.50 b) 0.70 c) 0.80 d) 0.90
USRS A A Asdl siculas L .

a) pressure b) height ¢) humidity d) none of the above

Q-2 Al Q-¢ HiEll Sl ULl AR ALA ol cllol AL,

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

a)

b)

oL UL oll ellel AU,
arletclot ol AMAUR $cl URE AUl A, AHstA.

19 AG BoeBA E1RL Wal AHLA.

oLl AL oll cllol LU,

oG oll A A WA $cll URGMON AVl 1l yHLA.

wilot of WsISsuat ol uAl 83

oL AL ol ellol AW,
AsH sLESAULS oll GUAN A 52N ol w2 8.

ALBeS aleR oll GUAN Aol SLAERN AW,

olalos AcAl oll scllol A,
AUALALAL oll 5180 WA AU ol AU 53

gARL ARG Ul ol SLAEL AR ojsAlel AU,

oLl UL oll s llol AUl
URFYU 3Tl AA UG URFA 3Tt ofl AvuHell 3.

uRll olt VA of AAxAoe sclloll %3 9 O. UM

oL UL oll ellel AU,

gl ARG Ul Hi cduRdl At € AR A A,

2Us RAUE Ul oll SIAEL Bl ofsUlol AW

(

oL UL oll el AU,
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) 9JIBos clleR il %Blot of Msccl AL,

b) sl QAW ol cautval AW AR w5l A uHe Al
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